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IBPS RRB PO Pre 2024 Memory Based Paper 4-Aug-2024

Directions (1-5): Read the given information carefully and answer the questions based on it:

A certain number of persons sit in a row facing north. Five persons sit between P and Q. M sits third to
the right of Q and fourth from an end. The number of persons sit between H and M is same as the number
of persons sit between Q and M. Four persons sit between B and H. D sits sixth to the left of B and third
from an end. G sits fourth to the right of F who sits between D and Q.

3 e TP B AFYd® ufeu ik 39 uR Syt usl & IR i)

U AT TRen § safad SR &1 3R §@ e U Ul H 93 €1 PR Q F da Ul Afd 93 81 M, Q
P T3 3R AW WM R 3R [Hl T SR WA MR G318 | H 3R M F & 96 afaqdl ot Ta, Q
3R M & S 96 Tl &1 T & R 81 B IR H P ST IR AR S &1 D, B P T8 3R TS I
TR 3R [P T SRIA TR VMR ISR G, F P G5 3R TN RIH R 93718 dUTD 3R Q P S F 97
gl

Q1. What is the position of M with respect to G?
G & ATUE T M BT RITH FTE?

(a) Immediate left / 3l a1U

(b) Second to the left/ EI'I% GhTm

(c) Fourth to the left/ EI'I% 3R T

(d) Second to the right / aTs‘ GhTm

(e) Immediate right / I CALY

Q2. The number of persons sit between D and F is same as the number of persons sit between __
and _.

D 3R F & ¥4 o afdaal @1 6e, _ iR _ & dig 98 Afwal ot 981 & SRIaR |

(a)B,P

(b)QH
(c)B,G

()M, H
(e) P.F

Q3. How many persons sit in the row?

dfek # fba safda 93 &2

(a) 19 ALL EXAMS,

(b) 17 ONE SUBSCRIPTION.

(c) 13 ) =

(d) None of these/ 370 I PIs ol 9y = @
(e) 14
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Q4. Who among the following sits exactly between F and H?

Fafafad A A P F R H P P AT 3182
(@Q
(b) B
(G
(M
(e) P

Q5. Which of the following is true about B?
I. Five persons sit to the right of B

II. No one sits between B and M

[11. P sits seventh to the left of B

FuffRT A - TTFYTB F IR AT E?
1B TS 3R UG AT 83 &

ILB 3R M P ST ®Is Tei 918

1. P, B & §T3 3R ITdd RIF R 3718

(a) Only I/ hddl |

(b) Only Il/ Had II

(c) Only 111/ ad III

(d) Only I and Il/ Had [ 3R 11

(e) Only I and 111/ %ad [ 3R 111

Q6. If 2 is subtracted from each even digit and 1 is subtracted from each odd digit in the number
“463278293", then which of the following digits will appear more than twice in the new number
thus formed?

gfe TWAT “463278293” H A Y IH 3ic & I 2 T ST 94T YdP fAuH 3iF H | 1 ger™n
we, Y Fuafafad # @ S19-91 3id 39 PR a1 93 & § & R ¥ ¥ s

(a) Only 6/ Hdd 6

(b) Only 6 and 2/ Had 6 3R 2

(c) Only 2/ &Hdd 2

(d) 6,8 and 2/6, 8 3R 2

(e) None of these/ STH I P13 !

Q7. In the word ‘RESIDUAL, how many pairs of the letters have the same number of letters
between them (both forward and backward direction) in the word as in the alphabet?

Teg ‘RESIDUAL ¥ 31&RT & U fhaw g1 § fora i xreq A S1gRY o 6@ (3T iR §ie il
fezmaft #) Sa=i €t & fraht 37 S iish qufarer # gt 87

(a) Four/ dRR

(b) Two/ Gl

(c) One/ Uch

(d) Three/ dF

(e) None/aﬂgqﬁ
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Directions (8-12): Study the following information carefully and answer the questions given
below:

Eight persons - M, N, O, P, Q, R, S and T were born on the 15% and 2214 of the months January, April, July
and September of the same year, but not necessarily in the same order. No two persons were born on
the same date of the same month.

R was born on even number date in the month having odd number of days. Four persons were born
between R and N. N was born before S. Q was born three persons before S. M and S was not born in the
month of July. As many persons were born before M as after Q. Only one person was born between M
and T. O was born before P but after T.

fFrafafaT SHer &1 wryde siera S iR = few e usl & SR difvrg)

3T Afdd - M, N, 0, P, Q R, S 3R T T &t a8 & TG, 31iid, Jairs 3R Ryder 7 &t 15 3R 22
IRRG P! UaT gU ¥, Al SRl -Tal b 30t W & U1 U G| Bis +ft &1 Afad Th 1 He &t 9
ARG & Ual 51 gu

R S 39 HelH & TH T aTelt aRia Bi gaft o1 forad a1 &1 Tkeam fawd 81 R iR N & o9 IR
Hfad U1 gU A1 N HT O S T U g3 UT| Q T o4 S I <fi cafad Ugal g3 AT M 3fR S T S s
& T o 7T gon Tl M I Ugd v aafd UgTgu 8, S f afda Q& a1g U1 gU A MR T& &t
dad U Had 1 o §3MT YT 0 T ST P Ugd olfch T & d1G g7 ATl

Q8. Who among the following person was born on 22" January?
fFafafad & @ $19-91 Sfd 22 S S UeT gai U1

(a) The one who was born immediately before M./dg afed ST M 3 31 Ugdd aﬂTEGIT YT

(b) The one who was born three persons before Q./ dg fad o Q J oF Afad ggd aETEGH Cll

(@Q
(d)R

(e) None of these/ 370 4 I3 a8l

Q9. How many persons were born between T and P?
T 3R P & A fHae safaa Uergw?

(a) Five/ Ui

(b) One/Uh

(c) Two/ al

(d) Three/ diH

(e) Four/ dRR

Q10. Four of the following five pairs are alike in a certain way and hence form a group. Who
among the following pairs does not belong to that group?

Frafafed ura gl 4 9 ar te fAfa 0 3 ve o iR 3o ue 99g §91d § |
fraferfEd gl # & S19-91 g1 99 G9g | Fafia T8 &7
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(@) TO
(b) QS
(c)N,M
(d)S,p
@QT

Q11. Who among the following was three persons after 0?
fafafaa 9 9 o149 o & &9 afe arg U

@T

(b) P

()R

(d)s

(e) None of these/ 70 H @15 ol

Q12. Which of the following statements is/are true?
fFrafafaa d A S9-91/3 YT a4 8/8?

(a) N was born after Q./ N I o[H Q %Eﬂ?{@'&ﬂ YT

(b) T was born on 15t July./ T dhTSIH 15 Wﬁg&ﬂ Yl

(c) M was born in the month of April./ M [ s[H GFaﬁﬂ_GﬁeTﬁE\’rﬂ Yl

(d) Five persons were born between R and S/ R 3R s & o= urg afad aﬂT g(¢
(e) None ofthese/g:lﬁﬁm:lﬁ

Directions (13-15): Study the following information carefully and answer the questions given
below:

Nivedita started walking from Point A in the north direction for 8m and reached Point B. From Point B
she turned left and walked for 7m and reached Point C. From Point C she turned right and walked for
5m and reached Point D. From Point D she turned left and walked for 10m and reached Point E. From
Point E she turned left and walked for 13m and reached Point E. From Point F she turned left and walked
for 8m and reached Point G.

Frafafed seR &1 wryde sreau S ok e fou e usi & 3R difom)

frafear foig A O S A= & 8 Hiex 9o Y= fohar iRk fog B R ugd | fofg B 9 a8 S ot 3R 7 Hier
Tt auT fig ¢ R ugdt | fig ¢ ¥ a8 q g8t iR 5 Hiex =reh a1 fig D W ugdt| foig D Y a8 S ST iR
10 Hiex Tl auT fig E TR ug | foig E ¥ 98 ST gt 3R 13 Hiex veh 3R foig F R ugdt| fag F @ ag amg
T3t 3R 8 Hiex Iait 3R fag ¢ R ugat|

Q13. In which direction is Point G with respect to Point A?
fig A ¥ Oy o fag ¢ fra fezmd 32

(a) South/ GI&UT

(b) East/qd

(c) West/ qigq

(d) South-West/ Gf&for-af3y

(e) None of these/ Eqﬁ @ Tﬁé 7'|—E?[
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Q14. What is the total distance travelled from Point G to Point C?
g 6 @ g c 99 TU I 1S Ta g3 fHa-i 82

(a) 28m/28 HIcX

(b) 30m/30 HIcX

(c) 32m/32 Hiex

(d) 36m/36 HIcI

(e) 34m/34 HIcR

Q15. If Point M is 6m to the east of Point A then what is the shortest distance travelled between
Point B and Point M?

uﬁﬁ%M,ﬁgAa?qﬁﬁsﬁaaﬂgﬁW%a’rﬁgBaﬁvﬁgmé?é’ﬁraﬂaﬂﬂiwgﬂ
fpa-t a2

(a) 12m/12 HIcR
(b) 10m/10 HIcR
(c) 14m/14 B
(d) 16m/16 HIcx
(e) None ofthese/s:lﬁ@a'ﬁ_sc:lﬁ

Directions (16-20): Read the given information carefully and answer the questions based on it:
Nine boxes A, B, C, D, E, F, G, H and I are placed one above the other in a stack (but not necessarily in the
same order as given). The boxes are numbered as 1 to 9 from bottom to top.

Five boxes are placed between box B and box G. Box E is placed just below box G. Three boxes are placed
between box E and box H. Box I is placed just below box H but above box D which is a prime numbered
box. Box C is placed above box A but does not place on topmost position.

3 TS B B AFYdS ufey MR 39 U Sl gl & 3R <iferg)

T STRIA, B, C, D, E, F, G, H 3R 1T TP | (QAfh ool Tal fob 34t oA H 8f oit fob fean @) v &
SR UH TG MU B | 9109 B! Ja -1 T e FW TP 1 9 9 T HHifbd [baT T g |

ST B 3R ST G & &I Ul S1d9 3@ U B | §T1a E &l S1aT G & 31eb 1 AT T 8 | 19 E 3R iy
H & o1 i S1aT 39 U 8| S0k 1 1 1G9 H & 31h =ie Afde ST D & SHUR a1 77 § YT §1akT D
U U ST AT S § | ST € Bl S1dT A & 3 UR 4T 7T § Afp I8 ol SHUR el @ T8 |

Q16. Four of the following five are similar in a certain pattern and related to a group, which does
not belong to the group?

fFrafafaa ug 4 @ IR e fAfda ted o 99 € ok U 9yg 9 G&fta 8| e d 9 o9 59
g | Hafer 181 82

(a) F-B

(b) D-G

(c) H-1

(d) A-H

(e) E-C
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Q17. How many boxes are placed between box D and box F?
1T D 3R 97e F & §14 fhaq ST I@ e &2

(a) Two/ @l

(b) Three/ e

(c) Four/dIR

(d) Five/ Ord

(e) Six/ 9%

Q18. Which box is placed exactly between box A and box G?
1T A 3R 91 G & 31 g T BIH-T1 S99 7T T §?
(a) Box H/ ST H

(b) Box I/ STeRT I

(c) Box D/ §II D

(d) Box C/ S C

(e) Box E/ IR E

Q19. Which of the following is correct?

Fafrfea @ sH-aradia?

(a) Box F and box H are adjacent to each other/ ST F 3R STd9 H W—@%% A %
(b) Box E is placed at bottommost position/ I E &Y Hid ardl WI:TEITWTTITIT%

(c) All are correct/ g ﬂﬁ %

(d) Four boxes are placed below box I/ CIESIEEIE] E'REIVWQ@TI'Q %

(e) Box C is placed at even number position/avm C P! IH H=AT AT WF[UTWT‘T{IT%

Q20. Which box is placed immediately below box I?
199 1 & St -1 SIH-I1 91T W1 1 52

(a) Box D/ SN D

(b) Box G/ S G

(c) BoxH/ ST H

(d) Box F/ ST F

(e) Box C/ SR C

Directions (21-23): In the questions below, some statements are followed by some conclusions.
You have to assume everything in the statement to be true even if they seem to be at variance
with commonly known facts. Read all the statements and decide which conclusion will logically
follow from the given statements disregarding commonly known facts.

2 fow e i ¥ 55 FYAl & 916 o e few 1 §1 smust HyY= # €t g Tt 91l @ g
HEAT €, Yal 81 3 gd3rd a) A i welia 81a 81 1| 9t sy &1 ufew oiiv au s fe |a-an
e wd3Ta aul B TeR g Ha gU fau T Sy @ aifhe U & SERuT S|
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Q21. Statements:

All sky are water.

Some water is not blue.

Only a few blue is rain.

Conclusions:

[. Some blue is not rain.

II. All sky can be rain.

DY :

Tl T, arex © |

PO AR, T ¢

&I FS &, =

e ;

1.3 & F el gl

1L 9 1S, BT a7 |

(a) If only I follows/ TS Had [ STTRVI HRT &

(b) If only 11 follows/ Tfe HaT 11 3TN HRT &

(c) If either I or II follows/ Tf¢ AT A 1ATII WW%
(d) If neither I nor II follows/tl'%:ff‘ﬁ [ :fa 1T STFHRUT Hhdl %
(e) If both I and I follow/ TS I 3R 11 Q1T STERUT Rl &

Q22. Statements:

All chair are black.

Only a few black are leather.

Only leather is brown.

Conclusions:

I. Some brown being chair is a possibility.
[1. No black is brown.

DY :

T AR, B T |
$IA PO AP, A g |
Had der, T35
e -

1. $S TS & TR B Bt TG G | 'm
IL DI &P, T3 el o
(a) If only I follows/ TS AT I STHUT HRT § ALL EXAMS,

(b) If only II follows/ Tfq Had I SR Dl % ONE SUBSCRIPTION.
(c) If either I or II follows/tl'%ZITFﬁ 1411l GEHTUTWT%

(d) If neither I nor Il follows/tl'%:ﬁﬁl:[_epfll GF;NTUTWT% CD
(e) If both I and II follow/ S 1 3R 11 G} SITIRUT R &
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Q23. Statements:

No tower is wave.

All wave is green.

Only a few green is plant.
Conclusions:

I. No wave is plant.

II. Some plant is not tower.
DY :

PIS TR, I eI 8|

Tt 3g, MR

$Had PO U, Wie g

A -

1. 1S d9, Wi T8l g

I. $ Wic, TR Tl g |

(a) If only I follows/ TS Had [ STTRVI HRT &

(b) If only II follows/ Tfe HaT I 3TN HT &

(c) If either I or II follows/ Tf¢ AT A 1ATII GWWT%
(d) If neither I nor II follows/tl'%:ff‘ﬁ [ '_'Téjf 1T STFHRUT hcdl %
(e) If both I and 11 follow/ Tfd 1 3R 11T WW%

Directions (24-28): Read the given information carefully and answer the questions based on it:
Eight persons A, B, C, D, E, F, G and H sit around a circular table but not necessarily in the same order as
given. Four persons face inside and four face outside.

E sits second to the right of A who faces inside. Two persons sit between E and F who faces opposite
direction as A. Three persons sit between G and C who doesn'’t sit adjacent to A. Inmediate neighbors
of G face same direction. H sits third to the right of D who faces same direction as A. B faces same
direction as E but does not sit adjacent to F.

3 S AR B AFYd® ufey ik 39 R Smutiia sl & 3R difvrg)

33 A A, B, C, D, E, F, G 3R H U JATHR TSl & IR} 3R 96 &, Al o] el {b d SH HHH 96
g1 o o foam T & | IR Jfad Sfer &1 SR JUT IR ITex Bt 3R 3@ g |

E, AP qTs 3R TR VT IR 9371 § IUT A 3fax P 3R 3T §1 E 3R F & &g & Afad 96 ¢ GUTF, A
&1 famia fo=n &1 iR @ §1 G 3R ¢ & o9 dH Afad 96 8 IUT ¢, A & 3TF -6l S81 8l G P
Aedn TSRt T fa=n @1 3R I7@ &1 H, D & aT8 3R R ™I TR 987 § YT D, A Bt 9HH fe=m
&1 3R ST §| B, E B! GHM G P 3R IHW § Al F & TH Tg] 9071 5

Q24. How many persons sit between H and G when counted to the right of G?

GH e R A A R H 3R ¢ & fiu fPar aafem 33 7
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(a) None / aﬁé el
(b) One/Th

(c) Three/ i

(d) Four/ dR

(e) Two/ &l

Q25. What is the position of E with respect to C?
C & ATUE H E BT TI RT8?

(a) Fourth to the left/ EI'Ié 3R T

(b) Immediate left/ 3d EILY

(c) Fifth to the right / E'Ié 3R Urat

(d) Third to the right / &T5 MR TGRT

(e) Immediate right / iG] [y

Q26. Which of the following is true about F?
I. F faces outside.

II. Three persons sit between F and D.

[11. B sits immediate right of F.

FP IR A fFaffRTda s araas?
I. F BTG a1 3R B

IL F 3R D & g 9 afad 8

Il B,F & 3% g 9o |

(a) Only I and I1I/ dd I 3R 111

(b) Only 11/ A I

(c) Only I and Il/ %ad [ 3R 11

(d) Only 111/ Had III

(e) Only Il and I/ Had 11 3R I

Q27. Who among the following sits immediate left of G?
FufafeaAd P c F NP argds18?

(@F

(b) B

(A

(dD

(e)E

Q28. Four of the following five are similar in a certain way and related to a group, who among the
following is not related to the group?

fFrafafea v @ 9 IR v [Afda e @ 99 € ik ve g 3 wdfta 3 Fafafta A d o=
39 UYE & Heiftra 78 27
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(@ C
(b)H
(c)F
(d)G
(e) B

Q29. If we form a four-letter meaningful word by using the third, sixth, eighth, and tenth letters
from the left end of the word ‘FREELOADING’, then which of the following will be the third letter
of the meaningful word thus formed. If more than one such word is formed mark X as your
answer. If no meaningful word is formed, mark Z as your answer?

gfe W ‘FREELOADING Ve & T4 BR A W, TS, 334 3R gHT &Y HT ITANT $3b IR
3R &1 I1fep g g1d €, O FRuferfaa # @ F19-97 iR 39 YR 91 I1de g &1 =T
&R NI gfc VA T A 3 UG 91d & ) X B! 3101 I & ¥4 § 3ifhd Bifor afg #g
T Tec 8T S99a1 8, Y Z Y 3UA IR & ¥ A 3ifdpd P

(@E

(b) N

(c)D

(d) X

(e)Z

Directions (30-32): In each of the questions, relationships between some elements are shown in
the statements. These statements are followed by conclusions numbered I and II. Read the
statements and give the answer.

TP UY |, FYI § $© ddl & did G§Y GRITT T § 1 59 Y| & 916 -1spd 1 3R 11 RE e 1
FYI BI UfST 3R IR o]

Q30.Statements: H>1=]J>=K<N,L<N=M<P<Q
Conclusions:

LP>K

II.LL<Q

PYI:H>1=]=2K<N,L<N=M<P<Q

frep:

LP>K

II.LL<Q

(a) If only conclusion [ is true/ﬂ'ﬁm ﬁmﬁ_ﬁh qd %

(b) If only conclusion Il is true/zl'%m ﬁmﬁ_ﬁf 9y %

(c) If either conclusion I or Il is true/ﬁmﬁfﬁwﬁf [T 11 W%
(d) If both conclusions I and II are true/q%ﬁlmv_ﬁh GﬁT I1 Eﬁrw%

(e) If neither conclusion I nor Il is true/ ’Clﬁ"_'[(_‘ﬁ frp | '_'TE')P[ RS %

10 |
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Q31.Statements: M>N>0>P>=R,Q<0=L>S
Conclusions:

.S<M

IL.LL>R

PYT:M>N>0>P=2R,Q<0=L>S

e

.S<M

I.L>R

(a) If only conclusion I is true/ﬂﬁ%ﬁ freent 1 I %

(b) If only conclusion Il is true/?ﬂ%m sy 11 g %

(c) If either conclusion I or Il is true/ gfe arat s 1ar 11 9 %

(d) If both conclusions I and II are true/ gfe fase | AR 11 a9 %
(e) If neither conclusion I nor II is true/ gfead sy |1 T8 19d %

Q32.Statements: D<E>F>G=H<[[H=2K<Z=U
Conclusions:

LF>7Z

I[I.D<I

DPYT:D<E>F>G=H<[LH=K<Z=U

e

LF>7Z

II.D<I

(a) If only conclusion I is true/tﬁémﬁ'@ﬁﬁh qd %

(b) If only conclusion Il is true/ df¢ Had sy 11 g %

(c) If either conclusion I or Il is true/zlﬁzﬂ?ﬁ ﬁ'@b_ﬁf IRIBIES ] %

(d) If both conclusions I and II are true/zlﬁ'ﬁmﬂfl 3‘ﬁT I1 ?ﬁ:ﬁ qg %
(e) If neither conclusion I nor Il is true/tlﬁ:f?'ﬁ ﬁ@b—ﬁf | :féjf I9g %

Directions (33-37): Study the following information carefully and answer the questions given
below:

Seven persons - B, C, D, E, F, G and H sit in a linear row and face north. Each one of them likes different
colour- Pink, Green, Red, Yellow, White, Blue and Grey.

F sits third to the right of the one who likes Yellow colour. Three persons sit between the one who likes
Yellow colour and the one who likes White colour. Only one person sits between the one who likes white
colour and D. G sits fourth to the left of D and likes Red colour. The one who likes Grey colour is the
immediate neighbour of G. F doesn’t like Grey colour. Three persons sit between the one who likes Grey
colour and H. The one who sits second to the left of H likes Green Colour. Two persons sit between the
one who likes Green colour and B. H doesn’t like Blue colour. C is not an immediate neighbour of G.

fFrafifad STeR! &7 eyde 3reag ST 3R e fou T8 i & IR i
ITd Afe - B, C, D, E, F, G 3R H T T Ufad T IR P 3R T Hh 98 ¢ | 370 I TAD DI 3{l-
ST [T S- T[arelt, BT, &1, Ui, Yibe, =Hia 3R Widl Ui g |
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F, el 1 URiG - aTel ST b a8 3R TR R R 937 & | Tiell 37 UG b aTet 3IR b 11 UG
H aTd Afdd & & i Afad 96 8 | e 11 TS HRA dTd 3R D & o9 had U Afad 93181 G, D
P I3 3R Y I TR J67 8 3R I 1 T U¥E g1 Wict T U 64 aral Afad 6 o1 Adbedd st
2| F 1 WIe T URiE -Te 1 & | WieT I URig R aTel safer 3R H & a1 - oot 96 8 1 H P a7 3R g
VYT TR S5 dTe) i B g T UG 8 | 83 T IS R aTd afad iR B P S al Aafdd 96 & 1 H P!
AT R TR ¢, 6 BT Fbedd USSR T B

Q33. Who among the following persons likes Pink Colour?

fFrafafaa 7 @ 19 e 31 uwHe Hars?

(a) The who sits second to the left of C/ dg fad St ¢ b aT 3R @3\’ R TR ST %
(b) C

(c)H

(d) The one who sit second to the right of E/ dg fad S E %31’59 W@%WW%@T%
(e) None of these/ szlﬁ ) aﬁs‘ quf

Q34. How many persons sit between E and the one who likes Blue?

E 3R a8 =afa o e 1w 8, & fta fvam aafaa 93 87
(a) None/?ﬁg :lﬁ

(b) Two/ &

() Three/ di-l

(d) More than three/ T ¥ 3ffde

(e) None ofthese/g:lﬁﬁm:lﬁ

Q35. Which of the following pairs of persons sit at the ends of the row?
Frufefad o @ saferal &1 Si=-91 g ufed & eid A da12?

(a) Gand D/ G 3R D

(b) The one who like white colour and G./ dg OQH\TI ﬁrlﬁ {-Il?bd CU PR3 % 3‘ﬁT G
(c) H and the one who likes blue colour./ H GﬁTa_‘é' W&fﬁlﬁ:ﬂﬂTWW%
(d) Band G/ B 3R G

(e) B and the one who like Blue colour/ B aﬁva's' W&fﬁlﬁ:ﬂﬂTWW%

Q36. Which among the following colour does C likes?

Fafifea i 9 c H - RIC §?
(a) Pink/ T[QTall

(b) Grey/ &ict

(c) Blue/ Hiell

(d) White/ T%g

(e) None of these/ STH A PIS a1
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Q37. What is the position of the one who likes Green colour with respect to D?
D & \TUE H g1 T UG B aTd ATRT BT T HIT 82

(a) Second to the right/ ars 3R QI

(b) Third to the right/ &Ts 3R ERT

(c) Third to the left/ S8 3R TR

(d) Second to the left/ ST 3R G

(e) Immediate right/ icY €1y

Directions (38-40): Study the following information carefully and answer the questions given
below:

There are eight members in a family: S, T, U, V, W, X, Y and Z. The family has three generations in the
family. There is no single parent in the family. U is the brother of W who is the father of V. Z is the paternal
grandfather of V. S is the mother-in-law of Y. T is the only son of Y. X is the sister of Z.

frafifed SFeRt o1 wryde siwmm S ok i i T usl & W §iferg)

T URAR H 316 S™- S, T, U, V, W, X, Y 3R Z 8] IRaR & i difear 81 uRar & #1E ted Sifyyias

%é’f%w UWHTHR I W, VHI I Z, VHITRIGI S, Y HI AN B I T, Y FISHAAIGA g | X, Z P g8
|

Q38. How many female members are there in the family?
uftaR & fora-t wfgar Hewa 87

(a) Three/ iG]

(b) Two /&l

(c) Four/dIR

(d) Five/ U

(e) None of these/ 70 J I3 ol

Q39. Who among the following is the niece of U?

FrafefEa & @ o u 3t ydisl/vish 22
(a) None ofthese/g_*lﬁ@ﬁéqﬁ
(b)T

(@S
(X
(e)V

Q40. How is S related to T?
s, T 9 {5 yoR Twfia g2
(a) Mother/ HIdI

(b) Grandmother/ FEEIGISI
(c) Daughter/ Q’?ﬁ

(d) Aunt/ 3fic

(e) None of these/ TTH A D15 ol
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Directions (41-46): Read the following pie charts carefully and answer the questions given
below. The pie chart (I) shows the percentage distribution of the total population (males and
females) in 2021 and 2022 together in five different villages. The pie chart (II) shows the
percentage distribution of the total population (males and females) in 2022 in these villages.

Total population 2021 Total population in
and 2022 together 2022= 2000
= 5400

mA
mA =B
= m®
- (m]¥]
ol mE
OE

Read the following pie charts carefully and answer the questions given below. The pie chart (I)
shows the percentage distribution of the total population (males and females) in 2021 and 2022
together in five different villages. The pie chart (II) shows the percentage distribution of the total
population (males and females) in 2022 in these villages.

fFrafefaa g smae &1 wFyd® sreaad &Y 3R 19 AT 7w usi & IR €1 99 e (1) 2021
3R 2022 W UTT IET-3ERT il § Gt SIS (oY 3R Afgen &1 ufa=ra faavor gxifar 31 g«
TR (11) 39 A | 2022 H Fo FHIBAT (B 3R wigan) o1 ufara faawor gifar g1

2021 3ﬂT 2022 &1 Fa 2022 # Fo AAHEAT =
SHEAT = 5400 2000

mA
oE
oc
m
OE
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Q41. The ratio of males to females in 2021 in village D is 9:4 and the total males in 2022 in the
village D is one-third of the males in 2021 in the same village. Find the difference between the
total females in 2021 and 2022 in village D.

T D ® 2021 W Toul 3R Afansi &1 Surd HHRT: 9 : 4 8 3N 7id D & 2022 H $& YUl BI
H@HT 7T D § 2021 ® YHUI &1 H&IT $T TS {0818 21 717 D | 2021 3R 2022 & Fa Afgansi &
9 3R 19 Pifore|

(a) 105

(b) 120

(c) 110

(d) 100

(e) 145

Q42. Find the ratio between the total population in village B in 2022 to the total population in
village Cin 2021.

2022 W 7Td B &) o SHGIT $T 2021 T TG ¢ Pt A SIS A 3UTd FTd P

(a) 10:19

(b) 19:10

(c) 11:10

(d) 19:11

(e) 12:19

Q43. 60% of the total population in village E is illiterate, and the rest will be literate in 2022, If
the ratio between the literate population in 2022 and 2021 in village E is 5:2, respectively, then
the total illiterate population in 2021 is what percentage of the total literate population in 2022
in village E?

Td E B & TSI BT 60% HRER B, 3% AW 2022 H A1&R g ¢ | afe 7ig E H 2022 37
2021 § &R THHSAT & d1° BT SUTd HHRT: 5 : 2 8, df 2021 T o (HRER TGS 79 E |
2022 T $ AI&R TS T foha-T Ufd=Id 87

(a) 41.5%

(b) 45.5%

(c) 40.5%

(d) 44%

(e)47.5%

Q44. Total males in village A in 2022 are 60% more than that in 2021, and the total females in
the village in 2022 are 200 less than that of males. The total females in village A in 2021 is what
percentage more or less than the total population in villages B in 2022 and 2021 together
(approx.).

2022 BT A H A TEY, 2021 Pt T H 60% 34U® §, 3R 2022 # 7iq § o AiRATE, ToW $t
T H 200 FUE1 2021 W79 A H Hol AfFAY, 2022 3R 2021 T TH 1Y 7Td B Pt A ATESAT
¥ fram ufa=ra 3iftre a1 &0 82 (@14 |
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(a) 22%
(b) 32%
(c) 28%
(d) 25%
(e) 17%

Q45. Total population in village F in 2022 is 37.5% less than that in C. If the total population in
village F in 2021 and 2022 together is five more than half of the total population in village A in
2021, then find the average population in village F and village B in 2021.

2022 T TTq F B $& SHGT C Pt $o TGS D o1 A 37.5% HH g1 Al 2021 3R 2022 &
Td F &1 $d STEET, 2021 T T A $ $a SEC & A1 A U Sifte 3, a1 2021 HWa F
3R 71T B B} 3Nd S-ESAT FTd HIfCE|

(a) 365

(b) 345

(c) 355

(d) 370

(e) 390

Q46. Total population in village E in 2022 is how many more or less than the average population
in village E and B in 2021.

2022 B9 E $ & TTEGIT, 2021 9 E 3N B FI a0 5 A fra- sifte area 82
(a) 12

(b) 15

(c) 4

(d) 5

(e) 10

Q47.Ram and Shyam together can complete a work in 12 days. If Shyam takes 32 days more than
Ram to complete the work, then in how many days can Ram complete the whole work.?

I 3R zar fras: foed &rd @1 12 AT § R 7 T@d 81 afe T & v s A |
32 f&=1 31 @vrd §, 91 70 T BT & fpa= & § T e adarg?

(a) 48
(b) 16
(c) 18
(d) 24
(e) 30

Q48. A man spends 20% of his monthly salary on house rent
and 25% of the remaining salary on his food. From his
remaining monthly salary, he spends on travelling and saves
in the ratio of 5:4, respectively. The difference between the

clejolO
amount he saved and the amount he spends on house rent is . . Q

Rs 3000. Find the monthly salary of the man (in Rs).

ALL EXAMS,
ONE SUBSCRIPTION.
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TS 3MTeH! St AR T BT 20% TR & fHIT TR Tl Hedl 8 3R T2 §T AT BT 25% TH W
T a1 g | T2 g HTRIS da # |, 98 TTAT 3R T2 UR SHHRT: 5:4 F 3UTd 1 @ Hear g | forat
TRT 98 T=Id a1 8 3R Rrat 7 a8 TR & fhre W @ H=a1 8, 379 & 37 3iav 3000 1
2| 3t # Wi a9 (Fual §) A B

(a) 45000

(b) 55000

(c) 50000

(d) 40000

(€) 60000

Q49. Rs X is distributed between ], K, L, and M. The amount received by J is 25% more than that
of L and the amount received by K is 40% less than that of ]. If the amount received by M is Rs
500 less than that of L and the difference between the amount received by J and M is Rs 1000,
then find X.

X ¥YY B J, K, L 3R M & 14 faaiia e & g1 ) &1 ure i, L & vy 3 A 25% $ifs @
3R K &1 YT 1M ) & UTed 1A A 40% HH g1 Tl M B UTed IR L F YT 1R | 500 3T HH
T 3T ) 3R M B! UTe R & = &7 3R 1000 FUA 8, @ X JTd o]

a) 4500

Eb%8400

(¢) 6600

(d) 5500

(€) 7500

Q50. The time taken by a boat to cover 120 km upstream in 15 hours and the boat can cover X
km downstream in 12 hours. If the speed of the boat in still water and the speed of the current
are in the ratio of 5:1, respectively, then find X.

TS A1 §RT YRT & Ufdpd 120 fodf @1 gt 90 F1 A 15 692 &1 90T TAT 8 9T 716 YRT &
3gpd X frel @t gt 12 U2 o 79 FX TPl g1 afe Wid oa | A1 Dt A TUT YRT Pt A P71
SUTd SHHRT: 5 : 18, d1 X BT M F1d BT

(a) 144

(b) 288

(c)72

(d) 90

(e) 108

Directions (51-55): Read the following bar graph carefully and answer the questions given
below. The bar graph shows total number of males and females together in four different cities
and the number of males in these cities.
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Q51. Total number of males in city A and C together is what percentage more or less than the
total number of females in B and D together?

TMER A 3R ¢ W Y6l & W, eR B 3R b W v A1y wfgensit &) oo wen A fFa ufawa
Hf® a1 B4 §?

(a) 16.67%

(b) 32.5%

(c)8.33%

(d) 5.25%

(e) 33.33%

Q52. The total number of females in city X is 75% more than that in D. If the total number of
males and females in city X is thrice that of B, then find the difference between the total number
of males in cities A and X.

TMeX X H ufeansi &t o W@ e D Bt a1 | 75% 34w 31 afe =rex x A goul ok afganait
F o G-I B B T T 8, a1 W A 3R X W Y & a1 & F a9 SR F1d PIfU|

(a) 50

(b) 60

() 35

(d) 40

(e) 55

Q53. In city B, 3/4th of the total number of males owned car and total number of females who did
not own car is twice that of males. Find the number males and females together who owned cars
are how many more or less than those who did not owned car.

TEX B U, & STl BI GG $T 374971 fdwI1 & U R g 3R o afgensi & v +r 781 8
S9! PA G-I ToUI BT FE&T V ST 81 PR I\ AT g3 3R Afgansit &1 a1 =T, 39
Rt & fpat st ar u g o e U #R T8l 82

a) 14

12

(c) 16

(d) 18

(e)8

Q54. The average number of females in cities A, C and E is 25, If the total number of males in city
E and city B is in the ratio of 3:4 respectively, then find the total number of males and females
together in city E.

TMEX A, C 3R E A uigarsii &t 3ivad T 25 8 1 afe 2ex E 3R e B A YUl B ot W= HH:
3 : 4 % UTA U g, T e E | G3UI 3R Afgarsi &1 $o 6= gid Siforg|

(a) 53

(b) 48

(c) 58

(d) 56

(e) 49
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Q55. Find the ratio of the total females in city A and B together to total males and females
together in city C.

e A 3R B H Uo A1y Fa Afansii ' T= &1 26 ¢ § oo 7oyl R afgansi @1 v @
3rUTd e Bifore|

(a) 23:21

(b) 20:29

(c) 21:25

(d) 22:29

(e) 23:28

Q56. The age of A five years hence is equal to the age of B ten years ago. If the ratio of the ages of
A to B after four years is 8:13, then find the sum of the present ages of A and B (in years).

U 99 916 A Ft 3T, 39 a9 Ugd B Pt 3T & &R 21 fS IR a9 a1 A 3R B BT Mg HT 3UTd
8: 13 8, Y A 3R B & adH Y BT AR (6] H) 19 BIfQ|

(a) 35 years / 35 GL

(b) 50 years / 50 4

(c) 55 years / 55 a§

(d) 20 years / 20 GL

(e) 40 years / 40 GL

Q57. A mixture contains milk and water in the ratio of 8:1, respectively. If 27 liters of mixture are
removed and 5 liters of water are added to the mixture, then the quantity of milk in the resultant
mixture becomes 16 liters. Find the initial quantity of water.

TS FYor & g 3R UT &7 SIUTd SHHRT: 8 : 1 81 afe frgor & 27 ditex fHera féar sime o= fygor
5 eifex urt fire fean wime, &t ufomed fysror § gu 5t AT 16 Wie? € ST @1 U 3 RS
AT J1d PIferg |

(a) 12 liters / 12 diex

(b) 4 liters / 4 Alex

(c) 5 liters / 5 dlex

(d) 9 liters / 9 dflex

(e) 14 liters / 14 Aflex

Q58. A and B started a business with investments of Rs 1800 and Rs (x-1800) respectively. After
nine months A, left and the profit share of B is Rs 1600 out of the total profit of Rs 3400. Find x.

A 3R B 7 SHHRT: 1800 UL 3R (x-1800) TUY & 1A% & ATY TP Sqawd YR+ fhar| -t W a1
A9 a9aTg BYS T 3R 3400 TUA & F ATH H A B BT a1 AT 1600 TUL B | x J1d Be |

(a) 3200

(b) 3000

(c) 1800

(d) 1200

(€) 2400
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Q59. The average weight of 48 students in a group is 63 kg. If 10 more students joined the group,
then the average weight decreased by 6 kg, then find the average weight of the 10 new students
in the group.

TS T U 48 BT &7 3iR7d 991 63 fraumm 81 afe 10 3R S 9qg ¥ 0fAa gt 9ird 8, at ehea
oI 6 fFauTH HU g1 SI1aT 8, 9 Igg W 10 ¢ BT &7 3RId g 71 BIfoTe|

(a) 29.6

(b) 21.5

(c) 23.2

(d) 24.5

(e) 28.2

Directions (60-64): In each of these questions a number series is given. In each series only one
number is wrong. Find out the wrong number.

379 | TS U T TP =T §Aa1 &1 718 € | AP Y&l § had Ueb ST e 8 | e ST [T
Pl

Q60. 38, 35, 70, 280, 1680, 13440, 134400
(a) 38

(b) 35

(c)70

(d) 280

(e) 1680

Q61.21, 28, 48, 75, 111, 156, 210
(a) 48

(b) 21

(c) 28

(d)111

(e) 210

Q62.109, 123, 146, 185, 249, 349, 488
(a) 349
(b) 185
(c) 488
(d) 109
(e) 123

Q63.1708, 1196, 853, 637, 512, 448, 444
(a) 444

(b) 1708

(c) 853

(d) 637

() 512
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Q64.175, 150,177,150, 179, 148, 181
(a) 181
(b) 150
(c)177
(d)179
(e) 148

Directions (65-69): In each of these questions, two equation (I) and (II) are given. You have to
solve both the equations and give answer

;ﬁéﬁmwﬁa’rw (m 3R (1) RE e T | 3musp! S v un & gd HT 8 SR I
!

Q65.
.2x? —13x+20=0
I3y —16y+21 =0

(a) If x>y / afe X>y

(b) If x>y /3fd x=y

(c) If x<y /afe X<y

(d) If x<y /i x<y

(e) If x = y or no relation can be established between x and y / Ifd x = y dl x 3R y & g ﬁ’sﬁ Y
T =Tt famaT S T 8

Q66.
l.5x* —32x+35=0
I.4y* + 17y +18 =10

(a) If x>y / afg X>y

(b) Ifxzy /3f¢ x2y

(c) If x<y /afe X<y

(d) Ifx<y /TfG x<y

(e) If x = y or no relation can be established between x and y / gfg x = y 4l x 3R y & dg ﬁ’sﬁ BEL
R 8T foba o opal ©

Q67.
l.x* —34x + 285 =0
Il y* — 40y +399 =0

(a) Ifx>y/ afg x>y

(b) If x>y /3l x2y

(c) If x<y /afe X<y

(d) If x<y / Tfd x<y

(e) If x = y or no relation can be established between x and y / gfg x = y 4l x 3R y & §g ﬁ’iﬁ Y
RTfd =1} foaT o e 8
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Q68.
Lx*—16x+63=0
ILy*—13y+42=0

(a) If x>y / afg X>y

(b) Ifxzy /3fd x=y

(c) If x<y /afe X<y

(d) If x<y / Tfc x<y

(e) If x = y or no relation can be established between x and y / gfg x = y dl x 3R y & d9 ?ﬁ'sp Y
RITIUT g7 fobaT o Uehall &

Q69.
I x% X 4 = 64
I.y3 =216

(a) If x>y / afe X>y

(b) If x>y /3fd x=y

(c) If x<y /afe X<y

(d) If x<y / Tfd x<y

(e) If x = y or no relation can be established between x and y / Ifg x = y dl x 3R y & g ﬁ’sﬁ Y
w1 1Y foan o e @

Directions (70-74): What approximate value will come in place of question mark (?) in the
following questions? (You are not expected to calculate the exact value)
FFrafefea uei o uyaras fag (7) & S IR T SFATT 7T STT? (SMTIR Tt T B0
P DI UL T8I B AT B)

Q70.

14.98% of 240 — 20.01% of 60 =7
240 & 14.98% — 60 &I 20.01% = 7
(a) 676

(b) 484

(c) 576

(d) 625

(e) 841

Q71.
24.12
2.99

(a) 6
(b) 18
(c) 21
(d) 25
(e)7
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Q72 V19.12 x 45.01 — 14.01 =? —23.33

(a) 49
(b) 52
(c) 43
(d) 41
(e) 59

Q73 850.13 + 120.12 — 12.02%2 =7-3.1°

(a) 853
(b) 881
(c) 837
(d) 813
(e) 809

Q74.

1951 _, 450.1
— X —— =7x 499
499  15.02

(a) 243
(b) 234
(c) 221
(d) 207
(e) 298

Q75. A man invested Rs 20000 in two different schemes, i.e., A and B. Schemes A and B offer 10%
and 20% p.a. compound interest respectively for two years. If the ratio of the total amount
received by man from schemes A to B is 11:16, then find the amount invested in the scheme B.

U HAfRT A & 3T-3eRT TISH13M, TTT A 3R B A 20000 U o7 (A= fbam| TieHAT A 3R B &Y
qul & forQ HHRE: 10% 3R 20% UfY avf Tehgfeg TS WS Sl 1 afe gioFT A 3R B @ afad
RT YT o M BT 3UT 11:16 §, df A1 B H < #1715 iy 31 Fifow)

(2) Rs 9000 / 9000 T
(b) Rs 11000 / 11000 T
(c) Rs 14000 / 14000 3T
(d) Rs 8000 / 8000 ¥TY

(e) None of these / ESE R EIERE]
Q76. There are two schools, A and B, and the sum of total ALL EXAMS
males in school A and total females in school B is 160. The ONE SU BSCRIPT"ION

ratio of males in schools A and B is 2:3, and the ratio of

females in schools A and B is 3:4, respectively. If the difference ) =
1e 0

between the total males in schools A and B together and that
of females is 60, then find the males in school B.
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31 IHd AT A 3R B €, 3R T d A H a1 Toul 3R 7@ d B H $d Afansii &1 IhT 160 81 THd A
3R B GoUI T 3UTd 2 : 3 §, 3R Tpd A 3R B H Afgansii &1 3rurd HUM: 3: 4 81 Al W@
A 3R B Y T YUl B TWAT 3R 75 d A 3R B U Fa Afgensii $t @@= & &g &7 3idv 60 €, d@
pd B H YUl 3 TWAT J1d o

(a) 100

(b) 60

(c) 80

(d) 120

(e) 150

Q77. A man invested of Rs P in simple interest at R% p.a. for two years and received interest of
Rs 320. If he invested same sum in simple interest at 5% p.a. for 8 years and received amount of
Rs 2240, then find R.

U Ifad 9 P UY HI &I auT & 7T R, Ufd 9 \1eRor saret wR fawr faean 3R 320 $U¢ &=
W foan | afe Su= T AR &Y 8 It & 1Y 5% wfa af AreRr sarer uR fHa=n fan ofiv 2240
FUT o1 AR uTed o, |t R J1a B

(a) 20

(b) 8

(c) 15

(d)12

(e) 10

Q78. The cost price of article A is equals to selling price of the article B. if article A is sold at the
33 % % profit and article B is sold at the 50% profit and the sum of the cost price of article B and
selling price of article A is Rs. 672, then find the cost price of article A?

TE A 1Y ed I B b faehd Jed & SR1aR ¢ 1 UfS ag A B 332 9% AT TR ST Tl 8 3R v
B &1 50% ATH TR ST SI1d1 8 d4T a¥g B & 4 G4 3R a5g A & fIha Tea ST1A1T 672 $UA €, ot
T A BT 5T oI [Td PIfoC |

(a) Rs. 224 /224 394

(b) Rs. 336 /336 ¥0Y

(c) Rs. 380 /380 ¥UY

(d) Rs. 420 /420 304

(e) Rs. 448 /448 TY

Q79. The area of a rectangular field having length 128m and breadth 16m is equal to the area
of an isosceles right-angle triangle. If the radius of a sphere is 12%% of the hypotenuse of the
isosceles right-angle triangle, then find out the total surface area of sphere?

128 Hiex @S 3R 16 MR ANSTE a1 TP MATHR ASH BT SAB A Th JHGATg THSI0 FAYs
& G & IRTER ¢ | Ufe T Tt it Biwan, wafgerg wHsIvn Biyst & Hof ot 12 9% @, dl Tt &1

o9 q¥Ia &% d F1d PIferg|
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(a) 5121 m2/ 512m 91 Hiex
(b) 3431 m2/ 343m & HIeX
(c) 580 m2/ 5807 &l HIex
(d) 4947 m2/ 494m T HIe
(e) 5001 m2/ 5007 91 Hiex

Q80. Train A crosses a 230m long platform in 29 seconds and train B crosses a 150m long
platform in 24 seconds. Train B which is 450m long crosses train A in 160 seconds, while running
in the same direction. Find how much time will the train A take to cross a 50m long bridge?

e A 230 Hier @d Wewid &I 29 Adhs W UR Hd! € 3R ¢ B 150 HieX @d Wewd of 24 THs
H UR Bt 81 31 B S 450 Hiew @dll €, T g1 f=m & gerd §U T A B 160 UHS W UR Hdt g
¢ A @1 50 Hiex dd §d &1 IR & J fora=r aag avm?

(a) 16 seconds / 16 Jqhs

(b) 22 seconds / 22 IHS

(c) 20 seconds / 20 Jqhs

(d) 17 seconds / 17 A S

(e) 25 seconds / 25 s

$1. Ans.(e)
Sol.
P D F QBGM H
L1 L1 1 1 L1 ] ] ] ] L1
—+r +r & . & & & &t &t & &+°&T.7
S$2. Ans.(d)
Sol.
P D F Q BGM H
L1 L1 1 1 L1 ] ] ] ] L1
—+r +r & r & & & &t &t & &+°t&7
$3. Ans.(e)
Sol.
P D F Q BGM H
L1 L1 1 1 L1 ] ] ] ] L1
— 1 T T 1 —t 1 & & T T 1
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S$4. Ans.(c)
Sol.

P D F Q BGM H
Lt +r +r r ®r 11 11 1 1 1
—+r tr & & & & &t & & T+ & 1T

S$5. Ans.(e)
Sol.

P D F Q BGM H
| I | L1 1 1 L1 ] ] ] | L1
—t+r & & & & &t & & T+ & T

$6. Ans.(c)

Sol. 463278293 = 242066082

S7.Ans.(e)

Sol. “None”

$8. Ans.(b)

Sol. Final Arrangement is here:
Months Date Persons
January 15 N

22 T

April 15 0

22 M

July 15 Q

22 R

September 15 P
22 S

“The one who was born three persons before Q”

S9. Ans.(e)

Sol. Final Arrangement is here:
Months Date Persons
January 15 N

22 T
April 15 0
22 M
July 15 Q
22 R
September 15 P
22 5
“Four”
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$10. Ans.(d)
Sol. Final Arrangement is here:

Months Date Persons
January 15 N
22 T
April 15 0
22 M
July 15 Q
22 R
September 15 P
22 S

“g, p”

S$11. Ans.(c)

Sol. Final Arrangement is here:
Months Date Persons
January 15 N

22 T

April 15 0

22 M

July 15 Q

22 R

September 15 P
22 S

“R”

$12. Ans.(c)

Sol. Final Arrangement is here:
Months Date Persons
January 15 N

22 T

April 15 0

22 M

July 15 Q

22 R

September 15 P
22 S

“M was born in the month of April”

$13. Ans.(c)
Sol. Final Arrangement is here:
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E 10m D

5m
/m B
13m C
8m
F 8m G A
“West”
S$14. Ans.(d)
Sol. Final Arrangement is here:
E 10m D
5m
/m B
13m C
8m
F 8m G A
“36m”
$15. Ans.(b)
Sol. Final Arrangement is here:
E 10m D
5m
7m B
13m C
8m
F 8m G A

« 1 Om"
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$16. Ans.(e)
Sol.

Number
9

=
mDU'—'E:r-rnm'ng
w

$17. Ans.(d)
Sol.

Number
9

=]
mmn—zﬂaﬁmﬁjg
[*5]

R o U o L s R s

$18. Ans.(b)
Sol.

Number
9

=)
mmu_iﬂ'—‘ﬁﬂ!ﬂj%
(451

o o | e o o | = | oo

30 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A

Addal247/

GET IT ON
Google Play

$19. Ans.(b)
Sol.
Number Boxes
9 E
8 B
7 C
5] A
5 H
4 |
3 D
2 G
1 E
$20. Ans.(a)
Sol.
Number Boxes
9 I3
8 B
7 C
5] A
5 H
4 |
3 D
2 G
1 E
S$21. Ans.(e)
Sol.
Water @‘»
$22. Ans.(b)
Sol.

Leather
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$23. Ans.(d)
Sol.

(e )

S24. Ans.(e)
Sol.

$25. Ans.(d)
Sol.

$26. Ans.(c)
Sol.

ALL EXAMS,
ONE SUBSCRIPTION.

ol0
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$27. Ans.(e)
Sol.

$28. Ans.(e)
Sol.

$29. Ans.(d)
Sol. DONE, NODE

$30. Ans.(a)
Sol.

[. P> K (True)
[I. L < Q (False)

$31. Ans.(d)
Sol.

[.S <M (True)
I[I. L>R(True)

$32. Ans.(e)
Sol.

[. F>Z (False)
II. D <I (False)
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$33. Ans.(c)
Sol. Final Arrangement is here:

l

G F C H D
Yellow Grey Red Green White Pink Blue
“H"
S$34. Ans.(d)
Sol. Final Arrangement is here:
I | | | | | ]
E G F C H D
Yellow Grey Red Green White Pink Blue
“More than three”
$35. Ans.(e)
Sol. Final Arrangement is here:
| | | | | | ]
B E G F C H D
Yellow Grey Red Green White Pink Blue
“B and the one who like Blue colour”
$36. Ans.(d)
Sol. Final Arrangement is here:
I | | | | | ]
E G F C H D
Yellow Grey Red Green White Pink Blue
“White”
$37. Ans.(c)
Sol. Final Arrangement is here:
| | | | | | ]
E G F C H D
Yellow Grey Red Green White Pink Blue
“Third to the left”
$38. Ans.(c)

Sol. Final Arrangement is here:
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S(-) Z|(+} X(-)
U(+) W(+)==Y(")
V() —T(+)

“Four”

$39. Ans.(e)

Sol. Final Arrangement is here:
S(-) Z|(+] X(-)
U(+) W(+)=Y(")

V() —T(+)
oy

$40. Ans.(b)

Sol. Final Arrangement is here:
S(-) Z|(+] X(-)
U(+) W(+)==Y(")

V() —T(+)

“Grandmother”

$41. Ans.(b)

Sol.

Total population in village A in 2021 & 2022 together = % X 35 = 1890

Total population in village A in 2022 = % * 30 =600

Total population in village A in 2021 = 1890 — 600 = 1290

Similarly,
Villages Total population | Total population | Total population
of villages in of villages in of villages in
2021 & 2022 Z022 2021
together

A 1890 600 1290

B 810 500 310

C 1350 400 950

D 1080 300 780

E 270 200 70
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Males in 2021 in village D= 780 x % = 540
Females in 2021 in village D = 780 - 540 = 240
Males in 2022 in the village D = % = 180

Females in 2022 in village D =300 - 180 =120
Required difference = 240 - 120 =120

S$42. Ans.(a)
Sol.

Total population in village A in 2021 & 2022 together = % ® 35 = 1890

Total population in village A in 2022 = % ¥ 30 = 600

Total population in village A in 2021 = 1890 — 600 = 1290

Similarly,
Villages Total population | Total population | Total population
of villages in of villages in of villages in
2021 & 2022 2022 2021
together

A 1890 600 1290

B 810 500 310

C 1350 400 950

D 1080 300 780

E 270 200 70

Required ratio = 500: 950 = 10:19

$43. Ans.(e)
Sol.

Total population in village A in 2021 & 2022 together = % ¥ 35 = 1890

2000

Total population in village A in 2022 = Too % 30 =600
Total population in village A in 2021 = 1890 — 600 = 1290

Similarly,
Villages Total population | Total population | Total population
of villages in of villages in of villages in
2021 & 2022 2022 2021
together

A 1590 600 1290

B 810 500 310

C 1350 400 950

D 1080 300 780

E 270 200 70
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Total illiterate in village E in 2022 = 200 X % =120

40

Total literate in village E in 2022 = 200 X Too = 80

Total literate  invillage E in 2021 = 80 x % = 32
Total illiterate in village E in 2021 =70-32 =38

Required percentage = g * 100 = 47.5%

S44. Ans.(c)
Sol.

Total population in village A in 2021 & 2022 together = % X 35 = 1890

Total population in village A in 2022 = % X 30 = 600

Total population in village A in 2021 =1890 — 600 = 1290

Similarly,
Villages Total population | Total population | Total population
of villages in of villages in of villages in
2021 & 2022 2022 2021
together
A 1890 600 1290
B 810 500 310
C 1350 400 950
D 1080 300 780
E 270 200 70
Total males in village A in 2021 be 5x
Total males in village A in 2022 =5x x % = 8x
Total females in village A in 2022 = 8x-200
ATQ,
B8x + Bx-200 = 600
16x =800
x=50
The total females in village Ain 2021 =1290 — 5 x 50 = 1040

1040-810

Required percentage = a1o X 100 = 2B.3 & 28%

$45. Ans.(c)
Sol.

Total population in village A in 2021 & 2022 together ==-> X 35 = 1890

Total population in village A in 2022 = % ¥ 30 = 600

Total population in village A in 2021 = 1890 — 600 = 1290
Similarly,
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Villages Total population | Total population | Total population
of villages in of villages in of villages in
2021 & 2022 2022 2021
together

A 1590 600 1290

B 810 500 310

C 1350 400 950

D 1080 300 780

E 270 200 70

Total population in village Fin 2022 = E:v-c 400 = 250

Total population in village F in 2021 and 2022 together = uzﬂ + 5 =650
Total population in village F in 2021 = 650 — 250 = 400

Required average =

$46. Ans.(e)
Sol.

400+310

= 355

Total population in village A in 2021 & 2022 together = % ¥ 35 = 1890

2000

Total population in village A in 2022 =Tos X 30 = 600
Total population in village A in 2021 = 1890 — 600 = 1290

Similarly,
Villages Total population | Total population | Total population
of villages in of villages in of villages in
2021 & 2022 2022 2021
together

A 1890 600 1290

B 810 500 310

C 1350 400 950

D 1080 300 780

E 270 200 70

Required difference = 200 —

$47. Ans.(b)
Sol.

310+70

Let the time taken by Ram be x day
And time taken by Shyam be x+32 days

ATQ,
1 1 1

xTx132 12
x+32+x_ 1

x2+32x 12

24x + 384 = x? + 32x

=200—-190 =10
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x*+8x—384=0

x* 4+ 24x — 16x — 384 =10
x(x+24)—16(x+24)=0
(x+24)(x—16) =0

x = —24,16

x =16

Required days = 16 days

$48. Ans.(a)
Sol.

Let the monthly salary be 100x

Amount spend on house rent = 100xx % = 20x

Amount spend on house food = [100x-20x) % % = 20x

Amount he saved = (100x — 20x — 20x) X % = %x

ATQ,

80x
T_ 20x = 3000

20x
— = 3000
3
x = 450
Required salary = 450x 100 = Rs 45000

$49. Ans.(e)
Sol.

Amount received by L be 4x

Amount received by ] = 4x X % = bx

Amount received by K =5x X % = 3x

Amount received by M = 4x-500

ATQ,

5x — (4x — 500) = 1000

x =500

Required value = X= 4x + 5x + 3x + 4x — 500
X =16x — 500

=7500
$50. Ans.(a)

Sol. Let the speed of the boat in still water and the speed of the current be 5a and a km/hr respectively.
Given, 2 _s5qa—-a
15

8 =4da

2=a

Required answer=X=12 X (5a + a)

X =12 X 6a

X=12x6x2=144

39 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A

Addal247/

GET IT ON
Google Play

$51. Ans.(a)
Sol.
In city A
Total number of males and females together= 36
Total number of males = 14
Total number of females = 36 - 14 = 22

Similarly,

Cities Total Total Total
number of | number of | number of
males and males females

females

together
A 36 14 22
B 44 20 24
C 56 36 20
D G4 28 36

Total number of males in city A and C together = 14+36=50
Total number of females in B and D together = 24 + 36 = 60

*"”5;5“ X 100 = 16.67%

Required percentage =

$52. Ans.(e)
Sol.
In city A
Total number of males and females together= 36
Total number of males = 14
Total number of females = 36 - 14 = 22

Similarly,

Cities Total Total Total
number of | number of | number of
males and males females

females

together
A 36 14 22
B 44 20 24
C 56 36 20
D 64 28 36

The total number of females in city X = % % 36 = 63
The total number of males and females in city X = 3x44 =132

The total number of males incity X =132 — 63 = 69
Required difference = 69 — 14 = 55
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$53. Ans.(a)
Sol.
In city A
Total number of males and females together= 36
Total number of males = 14
Total number of females = 36 - 14 = 22

Similarly,

Cities Total Total Total
number of | number of | number of
males and males females

females

together
A 36 14 22
B 44 20 24
C 56 36 20
D 64 28 36

Total number of males who owned car =% ® 20 =15

Total number of males who did not own car:% ¥ 20 =5

Total number of females who did notown car=5x 2 = 10
Total number of females who owned car=24-10=14
Required difference = (15 + 14) — (5 + 10) = 14

S$54. Ans.(b)
Sol.
In city A
Total number of males and females together= 36

Total number of males = 14
Total number of females =36 - 14 =22

Similarly,

Cities Total Total Total
number of | number of | number of
males and males females

females

together
A 36 14 22
B 44 20 24
C 56 36 20
D a4 28 36

Total number of females in cities A, Cand E=25x 3 =75
Total number of females in city E = 75-(22+20]) = 33

Total number of males in city E= 20 X 3 =15
Required sum =15+ 33 =48
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S$55. Ans.(e)
Sol.
In city A
Total number of males and females together= 36
Total number of males = 14
Total number of females = 36 - 14 =22

Similarly,

Cities Total Total Total
number of | number of | number of
males and males females

females
together
A 36 14 22
B 44 20 24
C 56 36 20
D 64 28 36
Required ratio = (22+24) :56
=46:56
=23:28
$56. Ans.(c)
Sol.
Let the present ages of A and B be a and b years respectively.
ATQ,
a+5=>b-10
15=b—a..(i)
And
at4 B8
b+4 13

13a + 52 =8b+ 32

8b — 13a = 20 ... (ii)

From (i) & (ii)

a=20,b=35

Required age = 20 + 35 = 55 years

$57. Ans.(c)
Sol. Let the quantity of milk and water in the initial mixture be 8a and a liters respectively
ATQ,
8
(8{1—2?){—) =16
9
8a =16 + 24
8a = 40
a=>5

The initial quantity of water = 5 liters
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$58. Ans.(b)
Sol.

ATQ,
1800X9 1800

(x —1800) x 12 1600 lm

1200 = x — 1800

3000 = x ALL EXAMS,
ONE SUBSCRIPTION.

ot g 0

Total weight of 48 students = 48 X 63 = 3024 kg

Total weight of 58 students = 58 X (63 — 6) = 3306 kg

Required weight = @ = 28.2 kg

$60. Ans.(a)
Sol. Wrong number = 38
The pattern of the series:

35, 35, 70, 280, 1680, 13440, 134400

X1 X 2 X 4 X 6 X 8 % 10

$61. Ans.(c)
Sol. Wrong number = 28
The pattern of the series:

21, 30, 48, 75, 111, 156, 210

+9 +18 +27 +36 +45 +54

$62. Ans.(c)
Sol. Wrong number = 488
The pattern of the series:

109, 123, 146, 185, 249, 349, 498

14 23 39 64 100 149

$63. Ans.(a)
Sol. Wrong number = 444
The pattern of the series:
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1708, 1196, 853, 637, 512, 448, 421
512 343 216 125 64 27
a3 73 53 53 43 33
S64. Ans.(b)

Sol. Wrong number = 150
The pattern of the series:

175, 152, 177, 150, 179, 148, 181
-23 +25 -27 +29 -31 +33

S$65. Ans.(e)
Sol.

L2x?—13x+20=0
2x* —8x—5x+20=0
2x(x —4)—5(x—4)=0
(2x—5)x—4)=0

5

x=—,4
2

IL3y? —16y+21=0
3y —9y—T7y+21=0
3y(y—-3)-7(y—3)=0
(y—3)EBy-7)=0

y= r3
So, or no relation can be established between x and v

$66. Ans.(a)
Sol.

I.5x* —32x+35=0
5x% —25x —7x+35=0
S5x(x—5) —7(x—5)=0
(5x—7)(x—5)=0

7
x=-,5

5
IL4y? 4+ 17y +18=10
4y* +8y+9y+18=0
4y(v+2)+9(v+2)=0
(yv+2)4v+9)=0
y= r 4
S0, X=y
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S$67. Ans.(d)
Sol.

I.x*—34x+285=0
x®—19x — 15x + 285 =10
x(x—19)—15(x—19) =0
(x—19)(x—15)=0

x =19,15

ILy* — 40y +399 =0

y* —19y — 21y + 399 =0
vy —19)—21(y —19) =0
(y—19)(y—-21)=0
y=19,21

So, x=y

$68. Ans.(b)

Sol.

Lx>—16x+63 =0
x*—T7x—9x+63=0
x(x—7)—9x—-7)=0
(x—7)x—9)=0

x =79

ILy? —13y+42=0
yr —6y—Ty+42=0
yviy—6)—-7(y—6)=0
(y—6)y—7)=0
y=7,6

S0, Xx=y

$69. Ans.(c)
Sol.
L.x* x4 =64
x* =16
x=—44
I.y% =216
vy=6
So, x<<y

$70. Ans.(c)

Sol.

15% of 240 — 20% of 60 = 7
36— 12 =7

576=7
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$71. Ans.(a)
Sol.

24
?4‘ vi1e =7x 2

& =7

S$72. Ans.(b)

Sol.
V19 X 45— 14 =7-23
29 =?-23
52 =7

$73. Ans.(a)
Sol.

850.13 4+ 120.12 — 12.02% =7-3.1°
853 =7

S$74. Ans.(b)

Sol.

195 _ 450
— X —=7X5
B 15

1170=7?x5
234 =7

$75. Ans.(b)
Sol.

Let the amount invested in scheme A and scheme B be Rs x and Rs (20000-x) respectively.

220) 9% = 21%
) % = 249

Cumulative compound interest in scheme A = (1[} + 10+

20x20
100

Cumulative compound interest in scheme B = (2(] + 20+

ATQ,

121
100 = ¥ 11

J_E

144 (20000 — x

100
121x 11
144 X (20000 — x) 16
11x = 180000 — 9x
20x = 180000
x = 9000
The amount invested in the scheme B = 20000 — 9000 = Rs 11000
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$76. Ans.(d)

Sol.
Let the total males in schools A and B be 2x and 3x respectively
And the females in schools A and B be 3y and 4y respectively

ATQ,
5x — 7y =60 ... (i)
And

2x + 4y = 160 ... (ii)
From (i) & [ii)

x =40y =20

Required males = 3x =120

S$77. Ans.(e)
Sol.

ATQ,
5
P+ Px——x8=2240
100
40P
P+——=12240
100
140P = 224000

P = 1600

Value of R = ?ZMIW =10
16002

$78. Ans.(b)

Sol.

Let cost price of article B = Rs. 100x

So, selling price of the article B=Rs. 150x

Now, cost price of the article A = Rs. 150x

So, selling price of the article A = :— ¥ 150x = Rs. 200x
ATQ,

200x + 100x = Rs. 672

x=2"=224Rs,

so, cost price of article A =150 X 2.24 =Rs. 336

$79. Ans.(a)
Sol.

Let each of base and height of the isosceles right-angle triangle is a meter

so its hypotenuse will be ay/2 m.
Area of isosceles right-angle triangle = 128 x 16

“XaxXa =2048m?

47 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A o
Addal247

a2 = 4096,
a=64 m.

50, its hypotenuse = 642 m.
Now, radius of the Sphere =;— X 6442
= S\E 1.

Total surface area of the sphere = 4m x 82 x8\2
=512m m?

$80. Ans.(c)
Sol.

Let length of train A =] metres.
And let speed of train A =S m/s.

ATQ,
Speed of train B = 45&;:”
=25m/s
Speed of train A, 5 = sz:ﬂ .-(i)
Now, 25 — § = =22
160
§=25— “?2: ..(ii)
On solving (i) & (ii):
1+450 14230
160 29
=350 metres.
So, speed of train A = 35“:9230
=20 m/s.
Required time = 352;50

= 20 sec.

ALL EXAMS,
ONE SUBSCRIPTION.
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